
Koneteollisuus Oy

Price list
22.10.2010 Page: 

Ryhmä: 230

KT-400 BAND SAW

Code Item name

1 (3)

KT400001 KT-400 SCREW

KT400002 KT-400 HANDWHEEL

KT400003 KT-400 NUT

KT400004 KT-400 SPRING

KT400005 KT-400 CONNECTOR PIECE

KT400006 KT-400 CONNECTOR PIECE

KT400007 KT-400 SPRING

KT400008 KT-400 TENSION SCREW

KT400009 KT-400 HANDWHEEL

KT400011 KT-400 PROTECTIVE CASING

KT400012 KT-400 TILTING PIECE

KT400013 KT-400 SLIDE

KT400014 KT-400 PIN

KT400015 KT-400 GUIDE

KT400016 KT-400 SCREW

KT400017 KT-400 BLADE WHEEL

KT400018 KT-400 BEARING BASE

KT400019 KT-400 BEARING 6205 2RS

KT400021 KT-400 SHIM RING

KT400022 KT-400 GASKET A 30 x 42 x 7

KT400023 KT-400 SHAFT

KT400025 KT-400 WING NUT

KT400027 KT-400 WIPER

KT400027.1 KT-400 WIPER PLATE

KT400028 KT-400 COVER

KT400029 KT-400 LOCKING SHAFT

KT400030 KT-400 CIRCLIP  12 MM (DIN 471)

KT400031 KT-400 WASHER

KT400032 KT-400 HINGE

KT400033 KT-400 FRAME

KT400035 KT-400 LOCKING MECHANISM

KT400038/1 KT-400 BLADE GUARD

KT400041 KT-400 GUIDE BIT

KT400042/1 KT-400 FINGER SCREW

KT400043 KT-400 SCREW

KT400050 KT-400 GASKET A 12 x 22 x 7

KT400051 KT-400 GUIDE CASING

KT400052 KT-400 GUIDE RAIL

KT400054 KT-400 ROTOR

KT400055/1 KT-400 GUIDE FRAME

KT400056 KT-400 SUPPORTING ROLLER

KT400062 KT-400 BLADE WHEEL

KT400063 KT-400 KEY

KT400064 KT-400 WASHER

KT400065 KT-400 SCREW

KT400066 KT-400 GASKET AS 30 x 42 x 7

KT400067 KT-400 BRAKE WHEEL

KT400068 KT-400 KEY

KT400069 KT-400 BEARING 6206 2RS

KT400071 KT-400 SAWDUST COLLECTOR

KT400072 KT-400 LEG FRAME

KT400073 KT-400 TUBULAR LEG (ADJUSTABLE)

KT400074 KT-400 ADJUSTING SCREW

KT400075 KT-400 SCREW

KT400076 KT-400 BEARING 6205 2RS

KT400077 KT-400 BEARING COVER

KT400080 KT-400 SCREW

KT400081 KT-400 STATOR + COVER

KT400082 KT-400 BEARING BRACING

KT400083 KT-400 SCREW

KT400084 KT-400 TUBULAR LEG

For Evaluation Only.
Copyright (c) by Foxit Software Company, 2004 - 2007
Edited by Foxit PDF Editor



Koneteollisuus Oy

Price list
22.10.2010 Page: 

Ryhmä: 230

KT-400 BAND SAW

Code Item name

2 (3)

KT400085 KT-400 PLUG

KT400086 KT-400 SHAFT

KT400087 KT-400 WASHER

KT400088 KT-400 NUT KM 00

KT400089 KT-400 BRAKE SHOE

KT400090 KT-400 SCREW

KT400091 KT-400 BEARING 627 ZZ

KT400092 KT-400 SCREW + NUT

KT400093 KT-400 SPRING

KT400094 KT-400 OPENER PIN

KT400096 KT-400 OPENER EXTENSION

KT400100 KT-400 RING

KT400101 KT-400 BEARING

KT400102 KT-400 SCREW

KT400103 KT-400 RING

KT400104 KT-400 SAFETY SWITCH SK-U1Z M

KT400105 KT-400 STARTER ARM

KT400106 KT-400 COVER

KT400107 KT-400 GASKET AS 15 x 30 x 8

KT400108 KT-400 NUT

KT400113 KT-400 AFFIXING PLATE

KT400114 KT-400 WIRING BOX

KT400115 KT-400 CONTACTOR DILEM-10

KT400116 KT-400 LIMIT SWITCH I88-UV1Z

KT400117 KT-400 THERMA OVERLOAD RELAY ZE-9

KT400118 KT-400 CASING

KT400119 KT-400 COVER

KT400120 KT-400 SCREW

KT400121 KT-400 GASKET

KT400124 KT-400 REINFORCED LEAD

KT400125 KT-400 CABLE GLAND

KT400126 KT-400 CABLE

KT400127 KT-400 PLUG

KT400129 KT-400 SCREW

KT400130 KT-400 NUT

KT400131 KT-400 CLIP

KT400132 KT-400 SCREW

KT400134/1 KT-400 RAIL

KT400137 KT-400 SPRING

KT400138 KT-400 LIMIT STOP

KT400141/1 KT-400 RAIL

KT400142 KT-400 LIMIT STOP

KT400146 KT-400 SPRING

KT400149 KT-400 TABLE

KT400152/1 KT-400 BASE

KT400153/1 KT-400 SHAFT

KT400156/1 KT-400 GUIDE

KT400157 KT-400 TABLE

KT400160/1 KT-400 LOCKING MECHANISM

KT400165 KT-400 PROTECTIVE PLATE

KT400166/1 KT-400 SLICING GUIDE

KT400175/1 KT-400 BEARING SS 6202 2RS

KT400176/1 KT-400 CIRCLIP 15 MM (DIN 471)

KT400178 KT-400 RETURNER

KT400183 KT-400 BLADE

KT400185 KT-400 PROTECTIVE TUBE

KT400186 KT-400 WASHER

KT400187 KT-400 SCREW

KT400188 KT-400 WASHER

KT400190 KT-400 FINGER NUT

KT400192 KT-400 STARTER SWITCH

For Evaluation Only.
Copyright (c) by Foxit Software Company, 2004 - 2007
Edited by Foxit PDF Editor



Koneteollisuus Oy

Price list
22.10.2010 Page: 

Ryhmä: 230

KT-400 BAND SAW

Code Item name

3 (3)

KT400195 KT-400 BEARING BUSHING

KT400200/1 KT-400 FASTENER

KT400210 KT-400 NUT

KT400211 KT-400 CIRCLIP 52 MM (DIN 472)

KT400212 KT-400 CIRCLIP 25 MM (DIN 471)

KT400213 KT-400 FINGER SCREW

KT400214 KT-400 BEARING SS 6300 2RS

KT400215 KT-400 BUSHING

KT400216 KT-400 PUSHER PLATE

KT400217 KT-400 SPRING

KT400218 KT-400 BEARING SS 6200 2RS

KT400219 KT-400 CIRCLIP 62 MM (DIN 472)

KT400220 KT-400 CIRCLIP 30 MM (DIN 471)

KT400221 KT-400 PIN

KT400222 KT-400 CIRCLIP

KT400223 KT-400 PROTECTIVE PLATE

KT400224 KT-400 HANDWHEEL

KT400225 KT-400 BALL BEARING SHIM KAS 37

KT400226 KT-400 TIGHTENER

COMPLETE(PARTS 1-8, 185, 186)

KT400227 KT-400 SLIDE

, COMPLETE (PARTS 12-14)

KT400228 KT-400 MOTOR COMPLETE WITH BRAKE

KT400229 KT-400 COVER LATCH

COMPLETE(PARTS 9, 29-31)

KT400230 KT-400 UPPER BLADE WHEEL

COMPLETE(PARTS 17-19,21-23,77,211,212)

KT400231 KT-400 BRAKE

COMPLETE(PARTS 86-93)

KT400232 KT-400 BRAKE RELEASE

COMPLETE(PARTS 94, 96, 221, 222)

KT400233 KT-400 TABLE+TABLE RAILS

COMPLETE SET

KT400234 KT-400 UPPER BLADE GUIDE, COMP.SET

Items  149

For Evaluation Only.
Copyright (c) by Foxit Software Company, 2004 - 2007
Edited by Foxit PDF Editor



1
2

3
4

5
6

7

8

185

186

9

9
31

31

30

30

29

29

183

32

32

32

23 18
19

21 19 17

62

64

65

66

56

74

85

84

73

72

108

192

107

106

71116

115

117

113

104

125

126

127

103
101

9

11

12

14
13

15

15

52

67

90
91

92

93

93

88

87

89

82

195

50

94

100

105 124

101

68

63 69

76

8177

77

118

119 41

41

27

25

86

178

137

131

138

142

51

54

114

33

28

160/1

157

149 165 166/1

152/1

152/1

156/1

146

146

141/1

134/1

200/1

42/1

38/155/1

210

211
21235

190

213

176/1

175/1

214

215

217

153/1

216

218
219

219

220

96

221222

16

223

22

43

75

83

80

102

120

129

130 132

187
188

224
121

KT-400

225

226

227

229

230

231

232

= 1-8, 185, 186

= 12-14

= 9, 29-31

= 17-19, 21-23, 77, 211, 212

= 86-93

= 94, 96, 221, 222

27
27.1

234 = 38/1, 2 x 41, 42/1, 43, 52, 55/1, 218


